Erom (Person	NGZ Julie	-			ENT (Office			Al no an a	b -11.
					AM	I	Date/Time:	01082018	57HDW
Estimated Co					Bill to:				
To Inspect V	S / TP RES / OD ehicle No:	RESTEVA 9Jf	243R	MV/C	CS	Insured:	SIP	2454H	
at Workshop	m/s	EM-1	Auto			Tel:	A		
of		Blk 8	Sin	Mina	Inu list	#01-64	10000		
Policy No:				J		C1000	C) INEIC	Im	
Sum Insured:					Excess:		011417	9.1	
					13/10000				
Make of Veh (Client's Recor						D	.o.A. 0	810CF0C	
(Client's Recor	d)	4 HRS that		00	81068018				
(Client's Recor	d) / REP. / REV 2	4 HRS W)L				HOD Fed		
(Client's Recor CA / REV Date/Time:	d) / REP. / REV 2 01082018 53	2pm Per	rson Con	tacted: _	Mr. Chi		HOD Fed		
(Client's Recor	/ REP. / REV 2 010\$2018 53 Action/Instructi	on (V	rson Con	tacted: _	Mr. Chi		HOD Fed		
(Client's Recor CA / REV Date/Time:	d) / REP. / REV 2 01082018 53	on (V	rson Con	tacted: _	Mr. Chi		HOD Fed		
(Client's Recor CA / REV Date/Time:	Action/Instructi	on (V	rson Con	lacted:_	Mr. (Mi	ú Ve	H.O.D. End	OUT	
(Client's Recor CA / REV Date/Time:	/ REP. / REV 2 010\$2018 53 Action/Instructi	on (V	rson Con	lacted:_	Mr. (Mi	ú Ve	H.O.D. End		

Sirreyor 1917	SSIGNMENT
_	3TE 0 5/2 0
From: Date:	Type: M.Car / M.Cycle / Bus / Van / Lorry / Taxi / Prime Mover /
OD / TP / WS / TP RES / OD RES / EVA / INV / MV	Truck / Trailer or
To Inspect Vehicle No:	**************************************
	Make: TOYOTA WISH c.c 1, 794
at Workshop m/s	Colour Gray A/C: Insured > Std / NI / NA
of	Sp.Reading 226 619 T/Radio: (nsured)/ Std / NI / NA
Insured:	Eng/No:
Policy No.	C/NO: 2NE100408793
Claims No.	Gen. Cond: Good / Fair / Poor / Burnt
Sum Insured: Excess:	Steering: horder / Jammed / Leaked / Burnt or
(Client's Record)	Brake: (norder / Jammed / Leaked / Burnt or
Make of Veh:	Modi: Nil / S/Rim / STD A/Rip or
	Tyre Size: F: 201/55 R 16
(Policy Condition)	R:1(
Remark: The veh had commenced its N/S O/S	BS / DUN / EXNOVA / GY / FS / LIZA / MIC / OHTSU (PIR) SUMI /
repair at the time of inspection.	TOYO/YOKO or
Bal. or Market Value:	<u>Front</u> <u>Rear</u>
IDAC Accident Rport: Consistent? : Yes or No	R/Bal mm R/Bal mm
GIA / PR Seen: Consistent? : Yes or No	L/Bal. 6 mm L/Bal. 6 mm
Est. Repairs: days Res.: Yes or No	D.O.A. 2/7/18 D.O.I. 2/8/17
Lum Sum: % 3 Val.: Yes or No	Survey held at EM I
CA / REV / REP. / 24 HRS	Des. of Damages: Frt / Rear / O/S / N/S / U/C / Rooftop or
Date: Person Contacted: Vehicle: IN / OUT	
Date / Time Action / Instruction	The U/C / Chassis frame / Body Structure affected due to collision.
03/10/18 G. Africa 45 \$ 5, 100/- 6	2 = 1 111 12 27 11
(\$4,461.90 Rd-44%)	I days with NAZ BIUP
The state of the s	Anata
TEACH VED.	- GOT 2019
RECEIVED	GCT 2010 / ()
	3/10/2418
	' 1
ate/Time, Fije Pags to? Preli. Report:	Days Of Repair: 5
Typist : Final Report	Resurvey No. of Trip: / Survey Fee: 350
late/Time, File Return to?	Transportation:
Add Fee	
and Francis	: Interview (\$) Photos
eport Format :	:Tech. Invs (\$), Others
ump Sum / I.B.I: (\$ 5,700/- 4/5)	:Weekend (\$
	TOTAL 390



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Affiliated to Federation Internationale Des Experts En Au	Automobile
---	------------

AUTO & GENERAL INSURANCE (S) PL

Ref:

CS/AGI18014030/Nsb

(BUDGET DIRECT INSURANCE)
190 CLEMENCEAU AVENUE #03-01



SINC		'ENUE #03-01 NG CENTRESINGAPORE	Date: 01-08-2018	
2399	324		Code: AGI	
1.		Policy Particular	s :- THIRD PARTY CLAI	M
•	Insured Veh.	SJP 2454H	Veh. Inspected	SJF 243R
	Policy No.	AVE STANDING	Coverage (\$)	0.00
	Claim No.	C10001741/JM	Excess (\$)	0.00
	Assign From	JULIE	Assign Date	01/08/2018
2.		Vehicle Par	ticulars & Condition	
	Make & Model		c.c	0
	Engine No.	HIDDEN	Year of Reg.	
	Chassis No.		Colour	
	Odometer	•	Steering	
	Brakes		Modification	
	General			
3.		Cond	itions of Tyres	Service of the late.
		Size	Make	Balance
	R/H Front Tyre			mm
	L/H Front Tyre			mm
	R/H Rear Tyre			mm
	L/H Rear Tyre			mm
4.		Descrip	tion of Damages	
5.	FAMILY POLICE	Gene	ral Information	
	Accident Date	02/07/2018	Inspection Date	02/08/2018
	Survey held at	EM-1 AUTO PTE LTD		
	•	BLK 8 SIN MING INDUSTRIAL SINGAPORE 575643	ESTATE SECTOR C #01-	68
5a.			Remarks	
	A)THE INSPECTION	ON WAS CONDUCTED ON A"W CE TO YOUR INSTRUCTIONS,	ITHOUT PREJUDICE" BAS WE HAVE NOT AUTHORIS	SIS. SED REPAIRS.

Catherine Chong (LKK Auto)

From:

Julie Mangubat <julie.m@budgetdirect.com.sg>

Sent:

Wednesday, 1 August, 2018 5:24 PM

To:

SUR; 'assignments'

Subject:

FW: Arrange survey for vehicle no. SJF 243R, your ref. no. SJP2454H, DOA:

02.07.2018 || Our ref: C10001741/JM

Attachments:

SJF243R, BUDGET-31072018160126.pdf

Hi Team

Please accept TPPD survey and survey on a without prejudice basis.

TP workshop is requesting Xing Guo Qiang LKK Auto Consultant Pte Ltd to survey their client's vehicle.

Thank you,

-Julie

From: Chia Sin Muk <em1autopteltd@gmail.com>

Sent: Tuesday, 31 July, 2018 4:15 PM

To: Customer Care <help@budgetdirect.com.sg>; Claims <claims@budgetdirect.com.sg> Subject: Arrange survey for vehicle no. SJF 243R, your ref. no. SJP2454H, DOA: 02.07.2018

WITHOUT PREJUDICE

Dear Sir/Madam,

Kindly arrange survey for vehicle no. SJF243R at our workshop as per attached file.

Thanks & Best Regards,

Karen, on behalf of, Chia Sin Muk (Mr)

m: (65) 9666 6556 | o: (65) 6452 3298 | f: (65) 6457 5776

EM-1 Auto Pte Ltd

Blk 8 #01-68 Sin Ming Industrial Estate Sector C Singapore 575643

Co. / GST Registration Number: 201316380R

Important: This email is confidential and may be privileged. If you are not the intended recipient, please delete it and notify us immediately; you should not copy or use it for any purpose, nor disclose its contents to any other person. Thank you.

This email is sent by Auto & General (SEA) Services Pte. Limited or a related body corporate (Auto & General) and is for the intended addressee. The views expressed in this email and attachments (email) reflect the views of the stated author but may not reflect views of Auto & General. This email is confidential and subject to copyright. It may be privileged. If you are not the intended addressee, confidentiality and privilege have not been waived and any use, interference with, or disclosure of this email is unauthorised.

Shirley Hiew (LKK Auto)

From: Sent: To: Cc: Subject:	Chia Sin Muk <em1autopteltd@gmail.com> Thursday, 4 October 2018 2:13 PM Shirley Hiew (LKK Auto) Admin A; Admin-D (LKKAuto) Re: SJF 243R Photo, TP/Budget Direct, Acc: 02.07.2018</em1autopteltd@gmail.com>
WITHOUT PREJUDIO	<u>CE</u>
Dear Shirley Hiew,	
We confirmed Lump	sum \$5,700.00 + 5days.
Thanks & Best Re Karen, on behalf of, Chia Sin Muk (Mr) m: (65) 9666 6556	-
Co. / GST Registration Number: Important: This email is confider	I Estate Sector C Singapore 575643 201316380R tital and may be privileged. If you are not the intended recipient, please delete it and notify us immediately; you should not disclose its contents to any other person. Thank you.
On Thu, 4 Oct 2018 at	t 12:13, Shirley Hiew (LKK Auto) < Shirley Hiew@lkkauto.com > wrote:
Hi Mr. Chia,	
Please Confirm final	fig of \$5,700.00 (lump sum) @ 5 days of repairs before GST.
Thank you.	
Best Regards,	
Shirley Hiew Case Handler	r
LKK Auto Consultants Pt	e Ltd
Phone: 6256-3561 email: <u>S</u>	Sur@lkkauto.com fax: 6256-4315
Blk 51, Paya Ubi Industrial	Park, Ubi Avenue 1, #02-25 S(408933)

From: Mei Kwan (LKKAuto) [mailto: Meikwan@lkkauto.com]

Sent: Monday, 10 September 2018 3:53 PM

To: Admin-D (LKKAuto) <admin-d@lkkauto.com>

Subject: FW: SJF 243R Photo, TP/Budget Direct, Acc: 02.07.2018

CS/AGI18014030/Nsb

Thank you.

Best Regards,

Mei Kwan | Admin

LKK Auto Consultants Pte Ltd

Phone: 6366 0055 | email: MeiKwan@lkkauto.com | fax: 67414108

Blk 51, Paya Ubi Industrial Park, Ubi Avenue 1, #02-25 | S(408933)

From: Chia Sin Muk < emlautopteltd@gmail.com >

Sent: Monday, 10 September, 2018 3:05 PM

To: Naz (LKKAuto) < Naz@lkkauto.com>; Admin A < admin-a@lkkauto.com>

Subject: SJF 243R Photo, TP/Budget Direct, Acc: 02.07.2018

WITHOUT PREJUDICE

Dear Sir

Please find attached photo, kindly check and finalise

Thanks & Best Regards,

Annie, on behalf of, Chia Sin Muk (Mr)

m: (65) 9666 6556 | **o**: (65) 6452 3298 | **f**: (65) 6457 5776

EM-1 Auto Pte Ltd

Blk 8 #01-68 Sin Ming Industrial Estate Sector C Singapore 575643

Co. / GST Registration Number: 201316380R

Important: This email is confidential and may be privileged. If you are not the intended recipient, please delete it and notify us immediately; you should not copy or use it for any purpose, nor disclose its contents to any other person. Thank you.

SVY

> Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Vehicle Owner Particulars	NIDIO .
Owner ID Type:	Singapore NRIC
Owner ID:	3410H
Vehicle Details	CIFOAOD
Vehicle No.:	SJF243R
Vehicle to be Exported:	No
ntended De-registration Date:	01 Aug 2018
Vehicle Make:	TOYOTA
Vehicle Model:	WISH 1.8XE A
Primary Colour:	Grey
Manufacturing Year:	2008
Engine No.:	1ZZ3098074
Chassis No.:	ZNE100408793
Maximum Power Output:	97.0 kW (130 bhp)
Open Market Value:	\$17,127.00
Original Registration Date:	15 May 2008
First Registration Date:	15 May 2008
Transfer Count:	1
Actual ARF Paid:	\$17,127.00
Intended PARF Rebate Details	
PARF Eligibility:	Forfeited
PARF Eligibility Expiry Date:	
PARF Rebate Amount:	\$0.00
Intended COE Rebate Details	
COE Expiry Date:	30 Apr 2023
COE Category:	B - Car (1601cc & above)
COE Period(Years):	5
PQP Paid:	\$20,441.00
COE Rebate Amount:	\$19,407.00
Total Rebate Amount: Message	\$19,407.00
	le cannot be further renewed. The vehicle must be de-

Please note that the 5-year COE for this vehicle cannot be further renewed. The vehicle must be deregistered upon COE expiry or when the vehicle reaches its statutory lifespan (if applicable), whichever is earlier.

The information contained herein is correct as at 31 Jul 2018

OK

SINGAPORE ACCIDENT STATEMENT

IMPORTANT NOTICE

Occupation

Gender

Date Of Driving Pass

Driving Experience

Mobile Number

Fax Number Contact Number

EMail Address

- 1. Please report correctly the details of the accident to speed up the claims process.
- 2. This Form must be completed by the Policyholder and/or the Authorised Driver.
- 3. Information provided must be as <u>truthful and accurate</u> as possible. Any wilful misrepresentation or witholding of material facts may allow insurance companies to repudiate policy ability.
- 4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.
- 5. Any false reporting may be referred to the Police for investigation.
- 6. This report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will, for a fee, be made available upon application by interested parties.
- 7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.

	ACCIDENT STATEMENT
Date Of Report	04/07/2018 17:27
Date Of Accident	02/07/2018 16:15
Exact Location Of Accident	ANG MO KIO INDUSTRIAL PARK 2 TOWARDS HIGHWAY
Country/State of Loss	SINGAPORE
	DETAILS OF OWN VEHICLE
Vehicle Registration Number	SJF243R
Insured/Policyholder	
Name Of Registered Owner	CHUA MENG KOK
NRIC No	S1713410H
Email Address	DNMKENNY@GMAIL.COM
Mobile Phone No	(LOCAL) +65-87177179
Alternative Phone No	OTHERS-NOPHONE
Vehicle Particulars	
Manufacturer	TOYOTA
Model	WISH 1.8XE A
Exact Purpose for which vehicle was being used at time of accident	
Are you claiming under your own insurance policy for repair to your vehicle?	NO
If No, Please state action to be taken	THIRD PARTY
Vehicle Category	PRIVATE CAR
Insurance Company	
Name of Insurance Company	TOKIO MARINE INSURANCE SINGAPORE LTD
Type Of Coverage	COMPREHENSIVE
Fleet Policy	NO
Policy Number	
Cover Note Number	
Driver	
Name of Driver	CHUA MENG KOK
NRIC No	S1713410H
Date Of Birth	13/05/1965
2 10	

INDOOR

MALE

16/07/1992

25 YEARS AND 11 MONTHS

(LOCAL) +65-87177179

OTHERS-NOPHONE

DNMKENNY@GMAIL.COM

Address

BLK 13 HOLLAND DRIVE

#14-50

Postcode

271013

Was driver an employee of the Insured's Company NO

If No, Relationship of the Driver with the Insured

OWNER

Vehicle Registration Number of Driver's Own

Vehicle

-

Insurance Company of Driver's Own Vehicle

.

General Information of the Accident

Type Of Accident

COLLISION - HEAD TO REAR

Weather Conditions

RAINING

Road Surface

WET

Other Information

Was any foreign vehicle involved in this accident?

NO

Number of vehicles involved in the accident

NO

Was any body injured in the Accident?

Was any injured conveyed to hospital by ambulance?

NO

Was any other material or property damaged?

YES

I have been approached by unknown person(s)

NO

soliciting/offering accident claims assistance.

000,00

Number of Passengers (Including Driver)

1

Details of Police Action

Was the accident reported to the police?

NO

If Yes, Please state which Police Station

Was notice of intended Prosecution given?

NO

If Yes, against whom?

Circumstances of Accident

Attachment(s)

Are accident photos available for attachment?

YES

Was there any video captured by Car Camera?

NO

Was there any audio recorded?

NO

DETAILS OF OTHER VEHICLE PROPERTY 1

Vehicle Registration Number

SJP2454H

Vehicle Make/Model/Colour

Details Of Properties

Vehicle Category

PRIVATE CAR

Name of Driver

LAW AH TA

NRIC/Passport Number

S1839099Z

Contact Number

96258116

Address

Postcode

Insurance Company Name

Nature Of Damage

No. Of Passenger (Including Driver)

Sketch Plan Pg. 1

SKETCH PLAN

IMPORTANT NOTICE

- 1. Please report correctly the details of the accident to speed up the claims process.
- 2. This Form must be completed by the Policyholder and/or the Authorised Driver.
- Information provided must be as <u>truthful and accurate as possible</u>. Any wilful misrepresentation or withholding of material facts may allow insurance companies to <u>repudiate policy liability</u>.
- The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.
- 5. Any false reporting may be referred to the Police for investigation.
- The report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance
 Association of Singapore (GIA) for archiving and that copies of this report will for a fee be made available upon application by
 interested parties.
- By the lodgment of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.
- 8. Consent under the Personal Data Protection Act (PDPA)

I understand, acknowledge, agree and consent that:

- (a) My insurer, my workshop and the General Insurance Association of Singapore ("GIA") may/are permitted to collect, use, disclose and/or process my personal data/personal information set out in this [form] and any other personal information provided by me or possessed by my insurer (collectively the "Personal Information") and disclose and transfer such Personal Information to all insurer(s) who have insured vehicle(s) involved in this accident (all insurer(s) who have insured vehicle(s) involved in this accident shall be collectively referred to as the "Insurers"), the Insurers' lawyers/law firms, the Monetary Authority of Singapore and any relevant government agency/authority (such as the police), for the purpose(s) of:
 - processing, handling and/or dealing with my claims including the settlement of the claims and any necessary investigations relating to the claims;
 - (ii) Investigating the accident and/or my claims:
 - (iii) carrying out and/or dealing with my instructions or responding to any enquiries by me;
 - (iv) administering my claims (including the mailing of correspondence, statements, invoices, reports or notices to me, which could involve disclosure of certain personal data about me to bring about delivery of the same as well as on the external cover of envelopes/mail packages); and/or
 - (v) complying with applicable law in administering, processing, handling and/or dealing with my claims.(collectively the "Purposes")
- (b) all insurer(s) who have insured vehicle(s) involved in this accident and the insurers' lawyers/law firms, may/are permitted to collect, use, disclose and/or process my Personal Information for one or more of the above Purposes; and
- (c) my Personal Information may/can be disclosed by any of the Insurers and/or GIA to their third party service providers or agents(including their lawyers/law firms), which may be sited outside of Singapore, for one or more of the above Purposes.
- (d) my Personal Information will also be collected and used to compile claims history for the purpose of fraud detection, investigation and management in present and all future claims.
- (e) the information so collected under (d) above may be shared / disclosed:
 - (i) to all insurers and/or any other third parties that assist in evaluating, investigating, controlling or managing fraud, regulators, law enforcement and government agencies as reasonably required for the purposes stated, or

(ii) for complying with requirements under any regulations, laws or court orders.

Policyholder's Signature

Date & Time:

Driver's Signature

(If driver is not the policyholder)

Date & Time

Reporting Centre Personnel's Signature

Name:

NRIC/FIN No.:

Sketch Plan Pg. 2

SKETCH PLAN A-SJF243R B-SJP2454H

DESCRIBE CIRCUMSTANCES OF THE ACCIDENT

CENSE PLATE SJF 243R	ACCIDENT DATE & TIME: 02/07/18 1616
ONTACT NUMBER: 8717717	
ocation: AMK Ind Park 2	
While I was wa	ating at traffic light at Amk and
suddenly veh B =	From behind knock on my year bumper.
and retr boot. Th	hen i took some picture of Loth veh and
exchange defai	iiis.
NOTE: PLEASE NOTE THAT YOUR	R INSURER MAY HAVE 14 DAYS TIME FRAME FOR YOU TO SUBMIT AN
OWN DAMAGE CLAIM UNDER YOUR	R OWN POLICY. PLEASE CHECK YOUR POLICY FOR MORE INFORMATION
lease state:	
() Claim Own Policy \ (Acrain	Third Party (Claim OD/TP at other workshop () Reporting Only

I/We declare the foregoing particulars are true in every respect.

Policyholder's Signature

Date & Time:

Driver's Signature

(If driver is not the policyholder)

Date & Time:

Reporting Centre Personnel's Signature

NRIC/FIN No.:

BLK 8 SIN MING INDUSTRIAL ESTATE SECTOR C #01-68 SINGAPORE 575643

Contact Number: 6452 3298 (O) 9666 6556 (H/P) 6457 5776 (F)

Email Address: em1autopteltd@gmail.com COMPANY / GST REG. NO.: 201316380R

Vehicle Number:

SJF 243R

Date:

02.08.2018

Vehicle Model:

TOYOTA WISH

Chassis: ZNE100408793

Accident Date:

02.07.2018

TP Ins.

BUDGET DIRECT

Original Reg Date: 15.05.2008 (30.04.2023)

BUDGET DIRECT L/S

ESTIMATE

		LOTHVIATE		
1	1 pc	Tailgate		1,290.60
2	1 pc	Tailgate Badge		62.90
3	1 pc	Tailgate Inner Lock		529.40
4	1 pc	Tailgate Lock Catch		38.20
5	1 pc	Tailgate Weatherstrip		329.10
6	2 pcs	Tailgate Stopper	18.00	36.00
7	1 pc	Tailgate Pocket Handle		45.10
8	1 pc	Tailgate Inner Trim		680.10
9	1 set	Tailgate Inner Trim Clips		40.00
10	2 pcs	Tailgate Hinges	68.20	136.40
11	2 pcs	Tailgate Shock Absorber	240.50	481.00
12	1 pc	Rear Windscreen Inner Seal		60.00
13	2 pcs	Rear Windscreen Moulding	112.60	225.20
14	1 pc	Rear Bumper Assy		826.70
15	2 pcs	Rear Bumper Side Retainers	58.10	116.20
16	2 pcs	Rear Bumper Dampers	65.20	130.40
17	1 set	Rear Bumper Clips		50.00
18	2 pcs	Rear Bumper Reflectors	98.00	196.00
19	2 pcs	Taillamps Assy	463.50	927.00
20	2 pcs	Taillamps Sealer	30.00	60.00
21	2 set	Taillamps Clips	25.00	50.00
22	1 pc	End Panel Assy		457.60
23	1 pc	End Panel Top Trim		460.30
24	1 set	End Panel Top Trim Clips		40.00
25	2 pcs	Rear Fender Inner Trim	690.50	1,381.00
26	2 set	Rear Fender Inner Trim Clips	30.00	60.00

8,709.20

2,177.30 Less 25%

6,531.90

C/F

6,531.90

BLK 8 SIN MING INDUSTRIAL ESTATE SECTOR C #01-68 SINGAPORE 575643

Contact Number: 6452 3298 (O) 9666 6556 (H/P) 6457 5776 (F)

Email Address: emlautopteltd@gmail.com COMPANY / GST REG. NO.: 201316380R

COMPANT / OST REG. No. . 2013 1030

Vehicle No: SJF 243R

B/F

6,531.90

200

		Special Nett	120
1	1 set	Reverse Sensor	250.00 1 not working
2	1 pc	Rear Number Plate with Cover	70.00 7346
3	1 set	Body Panel Joint Sealant	80 120.00
4	1 set	Rear Windscreen Sealant	50 60:00

Labour charge

Panel Beating	1,200.00
Spray painting	1,200:00
Check Wiring	50.00
Anti rust	.90.00
Remove and install rear windscreen	140.00
Remove and install tailgate parts	90.00
Remove and install carpet and seat.	120.00
Remove and install reverse camera.	150.00
Remove and install reverse sensor	90.00
	\$ 10,161.90

Lik F man hard nence notify
the second of silowing:

- for an electric or spray painting

- To disting a part(s) during resurvey

- Fairs proces are suject to confirmation

- Third party survey is on a "Without Prejudice" basis

- for a modification(s) is allowed

- ementary item(s) must be resurveyed and

- roject to final approval from Insurance Company

Acknowledged by Repairer

- ature:

NAZ LKK 2/8/18 1730 L/S

5 DAYS

APPEREPAR PHOTO

BLK 8 SIN MING INDUSTRIAL ESTATE SECTOR C #01-68 SINGAPORE 575643

Contact Number: 6452 3298 (O) 9666 6556 (H/P) 6457 5776 (F)

Email Address: emlautopteltd@gmail.com COMPANY / GST REG. NO. : 201316380R

Vehicle Number:

SJF 243R

Date: 02.08.2018

Vehicle Model:

TOYOTA WISH

Chassis: ZNE100408793

Accident Date :

02.07.2018

TP Ins. **BUDGET DIRECT**

Original Reg Date: 15.05.2008 (30.04.2023)

BUDGET DIRECT L/S

ESTIMATE

		<u> EUTIMOTTE</u>		
1 1	рс	Tailgate		1,290.60
2 1	рс	Tailgate Badge		62.90
3 1	рс	Tailgate Inner Lock		529.40
	рс	Tailgate Lock Catch		38.20
	рс	Tailgate Weatherstrip		329.10
6 2	pcs	Tailgate Stopper	18.00	36.00
7 1	рс	Tailgate Pocket Handle		45.10
8 1	рс	Tailgate Inner Trim		680.10
9 1	set	Tailgate Inner Trim Clips		40.00
10 2	pcs	Tailgate Hinges	68.20	136.40
	pcs	Tailgate Shock Absorber	240.50	481.00
12 1	рс	Rear Windscreen Inner Seal		60.00
13 2	pcs	Rear Windscreen Moulding	112.60	225.20
14 1	рс	Rear Bumper Assy		826.70
The second second	pcs	Rear Bumper Side Retainers	58.10	116.20
16 2	pcs	Rear Bumper Dampers	65.20	130.40
17 1	set	Rear Bumper Clips		50.00
18 2	pcs	Rear Bumper Reflectors	98.00	196.00
19 2	2 pcs	Taillamps Assy	463.50	927.00
20 2	2 pcs	Taillamps Sealer	30.00	60.00
21 2	2 set	Taillamps Clips	25.00	50.00
22 1	рс	End Panel Assy		457.60
23 1	рс	End Panel Top Trim		460.30
24 1	set	End Panel Top Trim Clips		40.00
25 2	2 pcs	Rear Fender Inner Trim	690.50	1,381.00
	2 set	Rear Fender Inner Trim Clips	30.00	60.00

Less 25%

8,709.20 2,177.30 6,531.90

NAZ LICIC 3(8/18 ISIS DISMANTLE

C/F

6,531.90

BLK 8 SIN MING INDUSTRIAL ESTATE SECTOR C #01-68 SINGAPORE 575643

Contact Number: 6452 3298 (O) 9666 6556 (H/P) 6457 5776 (F)

Email Address: emlautopteltd@gmail.com

COMPANY / GST REG. NO. : 2013 16380R

Vehicle No: SJF 243R

B/F

6,531.90

		Special Nett	220	
			250.00 with working	
1	1 set	Reverse Sensor	70.00 73.46	
2	1 pc	Rear Number Plate with Cover		
3	1 set	Body Panel Joint Sealant	80 120.00 nec	
4	1 set	Rear Windscreen Sealant	50 60:00 nec	

Labour charge

Labour charge	4 200-00
Panel Beating	1,200:00
Spray painting	1,290.00
Check Wiring	50.00
Anti rust	.90.00
Remove and install rear windscreen	140-00
Remove and install tailgate parts	90:00
Remove and install carpet and seat.	1:20:00
Remove and install reverse camera.	150.00
Remove and install reverse sensor	90.00
Remove and install reverse contest	\$ 10 161.90

LKK Auto Consultants hence notify the Repairer of the following:

- . To resurvey before/after spray painting
- . To display damaged part(s) during resurvey
- · Parts prices are subject to confirmation
- . Third party survey is on a "Without Prejudice" basis
- No illeg = modification(s) is allowed
- Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer

Signature:

Date:

NAZ LKK 2/8/18 1730

APTER REPORT RHOTO



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Affiliated to Federation Internationale Des Experts En Automobile

AUTO & GENERAL INSURANCE (S) PL Ref: CS/AGI18014030/Nsbe2

(BUDGET DIRECT INSURANCE)
190 CLEMENCEAU AVENUE #03-01

SINGAPORE SHOPPING CENTRESINGAPORE 239924

Date: 08-10-2018



239	924		Code: AGI		
1. Policy Particulars :- THIRD PARTY CLAIM					
	Insured Veh.	SJP 2454H	Veh. Inspected	SJF 243R	
	Policy No.		Coverage (\$)	0.00	
	Claim No.	C10001741/JM	Excess (\$)	0.00	
	Assign From	JULIE	Assign Date	01/08/2018	
2.		Vehicl	e Particulars & Condition		
	Make & Model	TOYOTA WISH	c.c	1794	
	Engine No.	HIDDEN	Year of Reg.	2008	
	Chassis No.	ZNE100408793	Colour	GREY	
	Odometer	226619	Steering	IN ORDER	
	Brakes	IN ORDER	Modification	STANDARD ALLOY RIM	
	General	FAIR			
3.			Conditions of Tyres		
		Size	Make	Balance	
	R/H Front Tyre	205/55 R16	PIRELLI	6 mm	
	L/H Front Tyre	205/55 R16	PIRELLI	6 mm	
	R/H Rear Tyre	205/55 R16	PIRELLI	6 mm	
	L/H Rear Tyre	205/55 R16	PIRELLI	6 mm	
4.		De	scription of Damages		
	THE VEHICLE SUSTAINED DAMAGES AT THE REAR PORTION.				
	DAMAGES SEE D	ETAILS.			
5.	General Information				
	Accident Date	02/07/2018	Inspection Date	02/08/2018	
	Survey held at	EM-1 AUTO PTE LTD	· · · · · · · · · · · · · · · · · · ·		
	BLK 8 SIN MING INDUSTRIAL ESTATE SECTOR C #01-68 SINGAPORE 575643			-68	
5a.	Remarks				
			N A"WITHOUT PREJUDICE" BA: ONS, WE HAVE NOT AUTHORI		
5b.		Estimate Days of Repair			
	ESTIMATED NOR	MAL PERIOD FOR REPA	IR: 5 Working Da	ys	



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 2

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SJF 243R

Qty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	TAILGATE	DENTED	1,290.60	1,290.60
1	TAILGATE BADGE	NECESSARY	62.90	62.90
1	TAILGATE INNER LOCK	BENT	529.40	529.40
1	TAILGATE LOCK CATCH	SERVICEABLE	38.20	-
1	TAILGATE WEATHERSTRIP	CRACKED	329.10	329.10
2	TAILGATE STOPPER @\$18.00	SERVICEABLE	36.00	
1	TAILGATE POCKET HANDLE	SERVICEABLE	45.10	-
1	TAILGATE INNER TRIM	CRACKED	680.10	680.10
1	SET TAILGATE INNER TRIM CLIPS	NECESSARY	40.00	40.00
2	TAILGATE HINGES @\$68.20	SERVICEABLE	136.40	-
2	TAILGATE SHOCK ABSORBER @\$240.50	SERVICEABLE	481.00	-
1	REAR WINDSCREEN INNER SEAL	NECESSARY	60.00	60.00
2	REAR WINDSCREEN MOULDING @\$112.60	NECESSARY	225.20	225.20
1	REAR BUMPER ASSY	CRACKED	826.70	826.70
2	REAR BUMPER SIDE RETAINERS @\$58.10	CRACKED	116.20	116.20
2	REAR BUMPER DAMPERS @\$65.20	SERVICEABLE	130.40	-
1	SET REAR BUMPER CLIPS	NECESSARY	50.00	50.00
2	REAR BUMPER REFLECTORS @\$98.00	SERVICEABLE	196.00	=
2	TAILLAMPS ASSY @\$463.50	CRACKED (1 PC ONLY)	927.00	463.50
2	TAILLAMPS SEALER @\$30.00	NECESSARY (1 PC ONLY)	60.00	30.00
2	SET TAILLAMPS CLIPS @\$25.00	NECESSARY (1 PC ONLY)	50.00	25.00
1	END PANEL ASSY	BENT	457.60	457.60
1	END PANEL TOP TRIM	CRACKED	460.30	460.30
1	SET END PANEL TOP TRIM CLIPS	NECESSARY	40.00	40.00
2	REAR FENDER INNER TRIM @\$690.50	TORN (1 PC ONLY)	1,381.00	690.50
2	SET REAR FENDER INNER TRIM CLIPS @\$30.00	NECESSARY (1 PC ONLY)	60.00	30.00
	LESS 25% DISCOUNT		-2,177.30	-1,601.78
			6,531.90	4,805.32
	SPECIAL NETT ITEMS			
1	SET REVERSE SENSOR (SN)	NOT WORKING	250.00	220.00
	REAR NUMBER PLATE WITH COVER (SN)	SERVICEABLE	70.00	

Report Ref No. CS/AGI18014030/Nsbe2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 2

Qty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
1	SET BODY PANEL JOINT SEALANT (SN)	NECESSARY	120.00	80.00
1	SET REAR WINDSCREEN SEALANT (SN)	NECESSARY	60.00	50.00
			500.00	350.00
	LABOUR			_
	PANEL BEATING.		1,200.00	700.00
	SPRAY PAINTING.		1,200.00	800.00
	CHECK WIRING,		50.00	30.00
	ANTI RUST.		90.00	50.00
	REMOVE & INSTALL REAR WINDSCREEN.		140.00	120.00
	REMOVE & INSTALL TAILGATE PARTS.		90.00	70.00
	REMOVE & INSTALL CARPET AND SEAT.		120.00	60.00
	REMOVE AND INSTALL REVERSE CAMERA.		150.00	60.00
	REMOVE AND INSTALL REVERSE SENSOR.		90.00	60.00
			3,130.00	1,950.00
	GRAND TOTAL		10,161.90	7,105.32

RECOMMENDED COST OF LUMP SUM REPAIRS	5,700.00
(TO ITS PRE-ACCIDENT CONDITION)	

Report Ref No. CS/AGI18014030/Nsbe2

MUHAMMAD NAZRIL BIN ABDULLAH

Automotive Assessor

ADRIAN LING WAI PING

B.Eng, AMSOE, AMIRTE, AMSAE-A, M. MATAI

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.